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Development of Tension Probe for Anterior Cruciate Ligament
Performance Evaluation of Trial Model L-Type Head

*M. Nagao, O. Yokota (Nihon University) and Y. Nagaosa (Fukushima Medical University)

Abstract  This is reconstructed by the private use organization, if the anterior cruciate ligament of knee joint is
damaged. The initial tension is given and is fixed in tendon graft. This tension is taken by the tension meter from
the knee joint outside. The tension in the joint may be not fixed by the operation case. The development of the
probe which measures the tension in the joint is required. Then, tension measurement probe of the probe rod with
the L-type head was produced experimentally. For example, they are strain gauge system and load cell system.
The performance evaluation of these prototypes was carried out. As the result, the improvement is indicated, and
it becomes feasible, if these are improved.
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Fig.2 Trial model L-type head probe outline.
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Fig.3 Appearance of trail produced L-type head probe.
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